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Find the angle between (A — B)and A, for A=4{ + j+2k and B=2i+3j+k.
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Find the vector A that has magnitude 4 =4 and that is perpendicular to both

B=+5i+3j-7k and C=-2i-4j+7k R
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Note that vector product of two vectors u and v i1s found as follows:

u=uli+u j+uk, v=vi+v j+v.ik;
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Calculate the vector product of (A4 + B) and (A — B) where A=5i - 2+ 4k and
B=3+4j-2k.
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Using vector techniques and considering the triangle formed by three vectors as
shown above, show that ¢? =a? + b? —2ab cosd . (Hint: Consider the vector

>
relation¢ = b—2a)
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By direct substitution show that A x (B X C) B(A C) - C(A _) for the vectors
—i—Zj B= =f+k, andC=F.
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